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WB Police SI Exam. – Practice Set

Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (c) 1973 ¢yöìœîû þ™Mþéyöìëû“þ xy£zöì˜ þ™!Øþ›îöìD !eéhßþîû
îÄîßþiy ²Ì!“þ!Ûþ“þ £öìëûöìŠéÐ ö‹œy þ™ëÅyöìëû !“þ˜!Ýþ hßþöìîû
†!àþ“þ ëíy ö‹œy þ™!îû¡ì”– þ™Mþéyöìëû“þ ¢!›!“þ ~î‚ @ùÌy›
þþ™Mþéyöìëû“þÐ

2. (d) !¦þ˜y£zœ ö„Ïþyîûy£zöìvþ þ™!œ›yîû þ™yçëûy ëyëûÐ
3. (b) ¢öìîûy!‹˜# ˜y£zv%þ !Šéöìœ˜ x˜Ä“þ› ¦þyîû“þ#ëû ßþºy•#˜“þy ¢‚@ùÌy›#

ç £zöì¨yéôéxÄy‚öìœy „þ!îÐ !“þ!˜ ¦þyîû“þ#ëû ö„þy!„þœ S”Ä
˜y£zöìÝþöìDœ xšþ £z!uþëûyV ˜yöì›ç þ™!îû!‰þ“þÐ

4. (a) x¢£öìëy† xyöì¨yœ˜ ›£ydy †yõþ# ç ¦þyîû“þ#ëû ‹y“þ#ëû
„þ‚ö ì@ ù Ì¢ myî û y þ™!î û‰ þy!œ“þ ¦þyî û“þîÄy þ™# x!£‚¢
†’xyöì̈ yœ˜=öìœyîû ›öì•Ä ¢îÅ²Ìí›Ð
†yõþ#ë%öì†îû ¢)eþ™y“þ ‡öìÝþ!Šéœ 1920 – 1922 ¢yœ þ™ëÅhsþÐ

5. (d) ¢‚!î•y˜ ¢‚öìŸy•öì̃ îû “,þ“þ#ëû þ™kþ!“þ!Ýþ x“þÄhsþ ¢îûœ– ¢‚¢öì”îû
vþz¦þëû„þöìÇþ ¢y•yîû’ ¢‚…Äy†!îûöìÛþîû ¢›íÅöì̃  ~öìÇöìe ¢‚!î•y˜
¢‚öìŸy•˜ „þîûy ëyëûÐ öë›˜ ˜“%þ˜ îûyöì‹Äîû ¢,!ÜT îy îûy‹Ä
þ™%̃ †Åàþ˜ S1, 2 ç 4 •yîûyV– ˜y†!îû„þ“þy S1-5 •yîûyV– !î•y˜
þ™!îû¡ì” ¢,!ÜT îy !îöìœyþ™ ¢y•˜  S169 ˜‚  •yîûyV •yîûy ²Ì¦,þ!“þ
!î¡ìëû ~£z þ™kþ!“þîû ›y•Äöì› ¢‚öìŸy•˜ „þîûy ëyëûÐ

6. (a) xy„þîöìîûîû îûy‹c„þyöìœ 5 îŠéîû ÷îîûy› …¤y ˜y›„þ ‹÷ì̃ „þ
îûy‹„þ›Å‰þyîû# “þyîû x!¦þ¦þyî„þ !£¢yöìî !˜öìëûy!‹“þ !Šéöìœ˜Ð
!m“þ#ëû þ™y!˜þ™öìíîû ë%kþ £öìëû!Šéœ 1956 ¢yöìœ xy„þîîû ~î‚
!£›%îû ›öì•ÄÐ xy„þîîû ÷îîûy› …¤yîû ¢y£yöìëÄ ë%öìkþ ‹ëûœy¦þ
„þöìîû!Šéöìœ˜Ð
!˜›Åy’ „þy‹ éôé šþöì“þþ™%îû !¢!e«– ö¢!›!‰þ!hßþîû ¢›y!•– ö”çëûy˜£z
xy› ç ö”çëûy˜£z …y¢– ‹y!› ›¢!‹”– î%œ¨ ”îûçëûy‹y–
ý›yëû%öì̃ îû ¢›y!•Ð

7. (a) 1927 ¢yöìœ vþzœ%‡ …¤y ç þ˜¢îûê …¤y ~îû ö˜“,þöìc îûy‹Ä‹öìëûîû
vþzöìjöìŸÄ !“þ!˜ =‹îûyöìÝþîû !îîû&öìkþ x!¦þëy˜ þ™yàþy˜Ð =‹îûyöìÝþîû
îûy‹y „þ’Åöì”öìîîû þ™b# „þ›œy ö”î# ¢%œ“þy!˜ ö¢˜yîû £yöì“þ
î!¨˜# £˜Ð ~£z ¢›ëû ›y!œ„þ „þyš%þîûöì„þ ”y¢ „þöìîû xy˜y £ëû
!”ÍÔ#öì“þÐ ›y!œ„þ „þyš%þîûéôé£z þ™îûî“Åþ#„þyöìœ xyœyvþz!jöì˜îû
²Ì•y˜›sþf# ç ö¢˜yþ™!“þ £˜Ð

8. (d) !¢öì̃ ›yîû þ™”Åy ›¢,’ ˜ëû …¢…öì¢ £ëû šþöìœ Šé!î ²Ì!“þšþ!œ“þ
£öìëû ¢y›öì̃ îû ¢î ‹yëû†yëû îöì¢ íy„þy ”ŸÅöì„þîû ö‰þyöì…îû
¢y›öì̃  š%þöìÝþ vþzàþöì“þ ¢y£yëÄ „þöìîûÐ

9. (a) !îõþÄ þ™îÅ“þöì„þ vþz_îû ç ”!Çþ’ ¦þyîûöì“þîû ‹œ!î¦þy!‹„þy îöìœÐ
~£z þ™îÅ“þ›yœyîû ”!Çþ’ !”„þ !”öìëû ˜›Å”y îöìëû ö†öìŠéÐ ~!Ýþ
~„þ!Ýþ !˜Á¬ vþzF‰þ“þyîû þ™îÅ“þ›yœyÐ ~£z þ™îÅöì“þîû þ™!Øþ› x‚Ÿ
œy¦þy myîûy †!àþ“þÐ

10. (c) Šéyeöì”îû îûy‹˜#!“þ öíöì„þ ”)öìîû ¢!îûöìëû îûy…yîû vþzöìjöìŸÄ „þyœÅy£zœ
¢y„Å%þœyîû ‹y!îû „þîûy £öìëû!ŠéœÐ

11. (c) þ™!Øþ›îöìD öîûŸ›!ŸöìÒîû ²Ì•y˜ ö‹œy £œ ›%!ŸÅ”yîy”Ð ~£z
xMþéöìœ …%î vþz§¬“þ ›yöì̃ îû öîûŸöì›îû ‰þy¡ì „þîûy £ëûÐ

12. (c) !ŸÖöì”îû ßþ¬yëû%“þsþföì„þ öþ™y!œç ¦þy£zîûy¢ xye«›’ „þöìîûÐ
13. (c) DNAéôé~îû ¢Á™)’Å þ™yöì„þîû ›öì•Ä ”)îûc £œ 34ÅÐ DNAéôé~îû

þ™%öìîûy „þíy !vþéôéx!:îûy£zöìîy !˜vþz!„Ïþ„þ xÄy!¢vþ– ~!Ýþ ›y˜î
ö”öì£îû ‰þ!îûe †àþöì̃  ¢y£yëÄ „þöìîûÐ

14. (c) x×&îû ›öì•Ä œy£zöì¢yöì‹y› vþzêöì¢‰þ„þ íyöì„þÐ
15. (d) ™!Øþ›îöìDîû ”!Çþ’ 24 þ™îû†’y ö‹œyîû ¢%̈ îûî˜Ð ~Ýþy ~„þ!Ýþ

‹y“þ#ëû vþz”Äy˜éôéîÄy‡Ê ²Ì„þÒ ç þîyöìëûy!ßþ³þëûyîû !îû‹y¦ÅþÐ ¢%̈ îûî˜
î˜¦)þ!› †Dy ç îÊáþþ™%öìeîû ö›y£˜yëû xî!ßþi“þ ~î‚ îy‚œyöì”Ÿ
ç þþ™!Øþ›îD ‹%öìvþü îûöìëûöìŠéÐ

16. (a) ¢îû„þy!îû ‰þy„þ!îû Sö„þw#ëû ç îûy‹Ä vþz¦þöìëû£zV œyöì¦þîû ‹˜Ä
“þšþ!Ÿ!œ ‹y!“þ ç vþzþ™‹y!“þöì”îû ”y!î=!œöì„þ !îöìî‰þ˜yîû „þíy
¢‚!î•yöì̃ îû öë •yîûyëû îœy £öìëûöìŠé “þy £œ 335 ˜‚ •yîûyÐ

17. (a) £y£zöì„þyöìÝÅþîû ²Ì•y˜ !î‰þyîûþ™!“þ 219 ˜‚ •yîûyëû ¦þyîû“þ#ëû
¢‚!î•yöì̃  îœy £öìëûöìŠé îûyöì‹Äîû îûy‹Äþ™yœöì„þ Ÿþ™í îy„þÄ
þ™yàþ „þîûyöìî˜ £y£zöì„þyöìÝÅþîû ²Ì•y˜ !î‰þyîûþ™!“þÐ £y£zöì„þyöìÝÅþîû ²Ì•y˜
!î‰þyîûþ™!“þ ç x˜Äy˜Ä !î‰þyîûþ™!“þöì”îû !˜ë%_« „þöìîû̃  îûyÜTÉþ™!“þ
¢‚!î•yöì̃ îû 217 ˜‚ •yîûy x˜%¢yöìîûÐ ~Šéyvþüyç îûyÜTÉþ™!“þ
£y£zöì„þyöìÝÅþîû ö„þy˜ !î‰þyîûþ™!“þöì„þ þ™”‰þ%Ä“þ „þîûöì“þ þ™yöìîû̃ Ð

18. (d) “þy!›œ˜yvþY îûyöì‹Äîû !Ÿî¢›%o› ‹œ²Ìþ™y“þ „þyöìîîû# ˜”#öì“þ
xî!ßþi“þÐ ~îû vþzF‰þ“þy 101 !›ÝþyîûÐ

19. (d) öë ›y•Äì› öî!Ÿ !ßþi!“þßþiyþ™„þ ö¢£z ›y•Äöì› Ÿöì·îû öî† öî!Ÿ
£ëûÐ „þ!àþ˜ ›y•Äöì›îû !ßþi!“þßþiyþ™„þ“þy “þîûœ îy †Äy¢#ëû ›y•Äöì›îû
ö‰þöìëû öî!Ÿ– “þy£z „þ!àþ˜ ›y•Äöì› Ÿöì·îû öî† “þîûœ îy †Äy¢#ëû
›y•Äöì›îû ö‰þöìëû öî!ŸÐ ~îû ‹˜Ä !ÞÝþœ ›y•Äöì› Ÿöì·îû öî†
¢î öíöì„þ öî!ŸÐ

20. (c) ˜›Å”y ˜”# ›£y„þyœ þ™îÅöì“þîû ¢öìîÅyFF Ÿ,D x›îû„þrÝþ„þ öíöì„þ
vþzêþ™!_ œy¦þ „þöìîû ›•Ä²Ìöì”Ÿ– ›£yîûyÜTÉ ç =‹îûyöìÝþîû ›•Ä
!”öìëû !îõþÄ ç ¢y“þþ™%îûyîû ¢Bþ#’Å !†!îû…y“þ x!“þe«› „þöìîû
…yÁºy“þ vþzþ™¢y†öìîû þ™öìvþüöìŠéÐ

21. (a) ›y˜%öì¡ìîû öœy!£“þ „þ!’„þyîû †vþü xyëû% 120 !”˜Ð öœy!£“þ
„þ!’„þyîû vþzêþ™!_ £ëû œyœ x!ßþi›Iy öíöì„þÐ

22. (b) ¦þy˜Åy„%þœyîû ö²Ì¢ xÄyQ ‰þyœ% „þöìîû!Šéöìœ˜ œvÅþ !œÝþ˜Ð ~!Ýþ
!Šéœ ¢‚îy”þ™öìeîû ßþºy•#˜“þy £îûöì’îû œöìÇþÄ þ²Ì’#“þ ~„þ!Ýþ
îýœ !î“þ!„Åþ“þ xy£z̃ Ð 1878 ¢yöìœîû 14 ›y‰Åþ ~£z xy£z̃ !Ýþ
²Ì’#“þ £ëûÐ ~£z ¢›ëû ö¢y›²Ì„þyŸ– x›,“þîy‹yîû– ‘þy„þy ²Ì„þyŸ–
¢%œ¦þ ¢›y‰þyîû ~£z ¢›hßþ þ™eéôéþ™!e„þy=!œ ¢îû„þyîûöì„þ vþz!m@À
„þöìîû “%þöìœ!ŠéœÐ

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20242

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

23. (b) 1952 ¢yöìœ ¦þyîû“þ ¢îû„þyîû þ™!îûîyîû þ™!îû„þÒ˜y „þöìîû!ŠéœÐ
þ™!îûîyîû þ™!îû„þÒ˜yîû  vþzöìjŸÄ !Šéœ éôôôôé (i) Lower Fertility
Rates, (ii)  Slow population growth

24. (a) @ùÌy› þ™Mþéyöìëû“þ xyöìëûîû vþzê¢=!œ £œ éôôôôé îy!vþüîû „þîû– ‹!›îû
çþ™îû ßþiy˜#ëû „þîû– ¢îû„þyöìîûîû x˜%”y˜Ð

25. (b) ¢%”ŸÅ̃  ¢öìîûyîîû î¤y• !˜›yÅ’ „þöìîû!Šéöìœ˜ =® ¢ÁËyÝþ ßþñ¨=®Ð
~!Ýþ =‹îûyöìÝþîû ‹%̃ y†öìvþü !˜!›Å“þ £öìëû!ŠéœÐ ßþñ¨=® !î¡%Œîû
vþzþ™y¢„þ !Šéöìœ˜Ð

26. (a) ö„þyîûîy „þëûœy…!˜ Šé!_Ÿ†öìvþü xî!ßþi“þÐ
27. (a) ¢‚!î•yöì˜îû ²Ìhßþyî˜y (Preamble) ö„þ 'Political

Horoscope' îöìœ ›hsþîÄ „þöìîû!Šéöìœ˜ ö„þ. ~›. ›%!ªÐ 1973
¢yöìœ !î…Äy“þ ö„þŸîy˜¨ ¦þyîû“þ# ›y›œyëû ¢%!²Ì› ö„þyÝÅþ îûyëû
ö”ëû öë– ²Ìhßþyî˜y £œ ¢‚!î•yöì̃ îû£z ~„þ!Ýþ x‚ŸÐ

28. (b) !…œyšþê xyöì̈ yœ˜ ëy ¦þyîû“þ#ëû ›%¢!œ› xyöì̈ yœ˜ (1919-
1924) ˜yöì›ç þ™!îû!‰þ“þÐ £z¢œy!› !…œyšþê þ™%̃ îû&kþyîû „þîûöì“þ
Ÿç„þ“þ xy!œ– ›£Á¿” xy!œ– ‹ç£îûœyœ ö˜öì£îû& ç xyî%œ
„þyœy› xy‹yöì”îû ö˜“,þöìc þ™!îû‰þy!œ“þ ~„þ!Ýþ ¢îÅéôé£z¢œy›îy”
îûy‹÷ì̃ !“þ„þ ²Ì!“þîy” ¢‚†!àþ“þ £öìëû!ŠéœÐ

29. (d) ‹y“þ#ëû „þ‚öì@ùÌöì¢îû ²Ì!“þÛþy“þy £éöìœ˜ ~¢. ~˜. îÄy˜y‹Å#Ð
1885 ¢yöìœ îöìÁºöì“þ W. C. Banerjeeéôé~îû ¢¦þyþ™!“þöìc
‹y“þ#ëû „þ‚öì@ùÌöì¢îû ²Ìí› x!•öìîŸ˜ x˜%!Ûþ“þ £ëûÐ
‹y“þ#ëû „þ‚öì@ùÌöì¢îû !m“þ#ëû x!•öìîŸ˜ ”y”y¦þy£z ö˜ïîû‹#îû
¢¦þyþ™!“þöìc „þœ„þy“þyëû x˜%!Ûþ“þ £ëûÐ

30. (a) ¦þyîûöì“þîû î¨îû ö„þ!w„þ £zßþ™y“þ „þyîû…y˜y †öìvþü vþzöìàþöìŠé
!îŸy…yþ™_˜öì›Ð

31. (a) !îÊöìÝþöì̃ îû ¢£öìëy!†“þyëû ”%†Åyþ™%öìîû öœï£éôé£zßþ™y“þ !ŸÒ †öìvþü
vþzöìàþöìŠéÐ

32. (b) 20 xy†ÞÝþ 1828 !…ÊÞÝþyöì· îûy‹y îûy›öì›y£˜ îûyëû „þ“Å,þ„þ
îÊáþ¢¦þyþ²Ì!“þ!Ûþ“þ £öìëû!ŠéœÐ

33. (b) ¦þyîûöì“þîû !˜ëûsþf„þ ç ›£y†’˜y þ™îû#Çþöì„þîû „þyëÅ„þyöìœîû ö›ëûy”
6 îŠéîûÐ

34. (c) xíÅ̃ #!“þöì“þ vþzêþ™y!”“þ ¢›hßþ ‰%þvþüyhsþ þ™’Ä ~î‚ þ™!îûöì¡ìîy!”îû
›)œÄ †’˜y „þîûy £ëûÐ îÄëû þ™kþ!“þöì“þ– ‹y“þ#ëû xyëû îÄöìëûîû
²Ìîy£ !£¢yöìî þ™!îû›yþ™ „þîûy £ëûÐ
¢îû„þy!îû …îû‰þ îÄëû– ¢y›!@ùÌ„þ ›)œ•˜ †àþ˜ S¢îû„þy!îû ç
öî¢îû„þy!îûV ~î‚ ö˜Ýþ îû®y!˜ Sîû®y!˜ xy›”y!˜VÐ

35. (d) 1920 ¢yöìœ †y!õþ‹# ¦þyîû“þ#ëû ‹y“þ#ëû xyöì¨yœöì˜îû
”y!ëûc¦þyîû @ùÌ£’ „þöìîû!ŠéœÐ

36. (d) ßþºöìÒy§¬“þ xíÅ̃ #!“þîû ÷î!ŸÜTÄ £œ éôôôôé
i. !ŸÖ ›,“%þÄîû £yîû–
ii. ›yíy !þ™Š%é xyöìëûîû ßþºÒ“þy
iii. „,þ!¡ìîû çþ™îû x!•„þ !˜¦ÅþîûŸ#œ“þy
iv. x˜%§¬“þ ›y˜î ¢Á™”

v. ÷m“þ xíÅ îÄîßþiy
vi. ›)œ•öì̃ îû ßþºÒ“þy ç ²Ìë%!_«†“þ x¢yîû“þy
vii. öî„þyîûöìcîû ¢›¢Äy £z“þÄy!” £œ

37. (c) ›yöìîÅœ šþœ¢ ‹œ²Ìþ™y“þ ˜›Å”y ˜”#öì“þ xî!ßþi“þÐ ˜›Å”y ˜”#
›£y„þyœ þ™îÅöì“þîû x›îû„þrÝþ„þ Ÿ,D öíöì„þ vþzêþ™§¬ œy¦þ „þöìîûöìŠéÐ
~îû ÷”‡ÅÄ £œ 1312 kmÐ ~!Ýþ …yÁºy“þ vþzþ™¢y†öìîû þ™!“þ“þ
£öìëûöìŠéÐ

38. (d) Indian Liberal Federation 1918 ¢yöìœ †!àþ“þ £ëûÐ
~!Ýþîû ›)œ ²Ì!“þÛþy“þy !Šéöìœ˜ ¢%öìîûw˜yí îÄy˜y‹Å#Ð

39. (d) îûDîûy‹˜ „þ!›!Ýþ ¦þyîû“þ#ëû „þîû îÄîßþiyîû ¢yöìí ¢Á™„Åþë%_« ˜ëûÐ
40. (d) îûy‹ßþiyöì˜îû ~„þ!Ýþ þ™yîû›y’!î„þ Ÿ!_« vþzêþ™y”˜ ö„þw

îûy˜y²Ì“þyþ™ ¢y†îûÐ ¦þyîûöì“þîû î,£_› þ™yîû›y’!î„þ Ÿ!_«
vþzêþ™y”˜ ö„þw £œ “þy!›œ˜yvþYîû „%þ”y˜„%þœy›Ð

41. (b) îûy§¬yîû †Äy¢ £œ ö²Ìyöìþ™˜ ç !îvþzöìÝþöì̃ îû !›×’Ð
42. (d) ‡!vþüöì“þ ”› !”öìœ !ßþi!“þŸ!_« ¢!Mþé“þ £ëûÐ
43. (a) ¢Á±!“þ 2024 ¢yöìœîû ›Äy†¢y£z¢y£z þ™%îûßþñyöìîû ¦)þ!¡ì“þ £öìœ˜

‹yþ™yöì̃ îû !›ëûy‹y!„þ £yëûyçÐ
44. (b) ¢Á±!“þ ö“þ!‹¨îû !¢‚ ¦þyîû“þ#ëû !î›y˜îy!£˜#îû övþþ™%!Ýþ ²Ì•y˜

!£öì¢öìî !˜ë%_« £öìëûöìŠé˜Ð !“þ!˜ ~£z þ™öì” þ™)îÅî“Åþ# þ™”y!•„þyîû#
~ëûyîû ›yŸÅyœ xyÖöì“þy¡ì ”#!Çþöì“þîû ßþiœy!¦þ!¡ì_« £öìœ˜Ð

45. (d) ¢Á±!“þ Ÿîû“þ „þ›œ x‰þhsþ £zrÝþyîû̃ ÄyŸ˜yœ öÝþ!îœ öÝþ!˜¢
šþyvþzöìuþŸöì̃ îû ”)“þ !£öì¢öìî !˜ë%_« £öìëûöìŠé˜Ð

46. (d) ¢Á±!“þ xyœöì‹!îûëûy !îÊ„þ¢ !˜vþz övþöì¦þœþ™öì›rÝþ îÄyöìBþîû
¢”¢Ä !£¢yöìî !˜ë%_« £öìëûöìŠÐ

47. (a) ¢Á±!“þ !î!ŸÜT ‰þœ!F‰þe x!¦þöì̃ “þy !›à%þ˜ ‰þe«î“Åþ# 54“þ›
”y”y¢yöì£î šþyœöì„þ œy£zšþÝþy£z› xÄy!‰þ¦þöì›rÝþ xÄyçëûyöìvÅþ ¦)þ!¡ì“þ
£öìëûöìŠé˜Ð

48. (b) ¢Á±!“þ vþz_îûy…öì[þîû xyvþz!œöì“þ ¦þyîû“þ ç „þy‹y…hßþyöì˜îû
ö¢˜yîy!£˜#îû ›öì•Ä x˜%!Ûþ“þ £öìëû ö†œ öëïí ¢y›!îû„þ ›£vþüy–
ëyîû ˜y› £œéôééKAZIND-24.

49. (c) ¢Á±!“þ 2024 ¢yöìœîû  !‰þ!„þê¢yŸyöìßþf öëïí¦þyöìî ö˜yöìîœ
þ™%îûßþñyîû öþ™öìœ˜ !¦þQîû xÄy›öìîÊy¢ ~î‚ †Äy!îû îû&¦þöì„þ˜Ð
›y£zöìe«y xyîû~˜~ ~î‚ öþ™yÞÝþ Ýþ Æyª!e«þ™Ÿ˜yœ !‹˜
öîû=öìœŸöì̃  ~îû ¦)þ!›„þy xy!îÜñyöìîûîû ‹˜Ä ~£z þ™%îûßþñyîû öþ™öìœ˜
”%£z !îKþy˜#Ð

50. (a) ¢Á±!“þ ²Ìëûy“þ îû“þ˜ ÝþyÝþy 2008 ¢yöìœ þþ™p!î¦)þ¡ì’ ¢Á¿yöì̃
¦)þ!¡ì“þ £öìëû!Šéöìœ˜Ð !“þ!˜ ~„þ‹˜ !î!ŸÜT !ŸÒþ™!“þ ç
›y˜î!£÷ì“þ¡ì# !Šéöìœ˜Ð

51. (c) X5 km

2 km

7 km öŸ¡ì
xîßþiy˜



3Achievers

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

52. (d) 10m

10m

5m10m

²Ìí›
xîßþiy˜

öŸ¡ì
xîßþiy˜

53. (b) ²Ìí› öÇþöìe ”%!Ýþ xÇþöìîûîû Set-~ ²Ìí› ç ‰þ“%þíÅ xÇþöìîûîû
›öì•Ä ßþiy˜ þ™!îûî“Åþ˜ „þîûy £öìëûöìŠéÐ

C  R
H  H
J  J
R  C

T  D
A  A
R  R
D  T

54. (d) ²Ìí› öÇþöìe ”%!Ýþ xÇþöìîûîû Set-~ ²Ìí› ç “,þ“þ#ëû xÇþöìîûîû
ßþiy˜ !î!˜›ëû „þîûy £öìëûöìŠéÐ

A  T
X  X
T  A
C  C

G  M
U  U
M  G
Y  Y

55. (d) 33 : {(3+3)2 = 36 } : : 21 : {(2+1)2 = 9}
56. (a) ²Ì”_ Ÿ·=!œöì„þ öŠéyöìÝþy öíöì„þ îvþü xy„þyöìîû ¢y‹yöìœ £öìî

Cottage  Flat  House  Bungalow 
Mansion  Palace

57. (d) ~…yöì̃  ö¢£z Odd numbers =!œ Count „þîûöì“þ £öìî
öë=!œîû þ™öìîûîû Place odd numbers xyöìŠé “þy£z–
5 1 4 7 3 9 8 5 7 2 5 3 1 5 8 6 3 8 5 2 2 4 3 4 9 6

58. (c) ~„þ£z¦þyöìî–

B


2nd

A


1st

D


4th
2 + 1 + 4 = 7

L


12th
12 + 15 + 23 = 50

O


15th

W


23rd

5 + 0  = 5
(59 – 61) :
²Ìíöì› vþzþ™öìîû ö”çëûy þ²Ì!“þ!Ýþ Ÿöì·îû code …¤%öì‹ îyîû „þîûy
£œÐ

Ÿ· code
create ba
and fa
new ri
ideas gi

Ÿ· code
thoughts ma
insights jo
always sha
better/solutions to/ki

÷“þ!îû „þîûy ~£z Chart öíöì„þ ¢£öì‹£z vþz_îû îœy ëyëûÐ
59. (c) gi
60. (d) and
61. (c) ideas and thoughts

62. (b) C F

+3

F D

–2

S V

+3

V T

–2

63. (d)
G D E F B C A

3 ‹˜
64. (b) é        ~„þ£z¦þyöìî

F D–2

I G–2

N L–2

G E–2

E C–2

R P–2

K I–2

I G–2

D B–2

N L–2

E C–2

Y W–2

65. (a) BOOK  34 STUPID  98

2+15+15+11 = 43 19+20+21+16+9+4=89
EAT  62

5+1+20 = 26

66. (b) 99 + 3 = 102 51 + 3 = 54
27 + 3 = 30

99, 102  3 myîûy !î¦þy‹Ä 5, 54  3 myîûy !î¦þy‹Ä
27, 30  3 myîûy !î¦þy‹Ä

102
102, 51,

2
 ~„þ£z¦þyöìî

54
54, 27

2


30
30, 15, 18

2
  ”%!ìÝþ£z 3 myîûy !î¦þy‹ÄÐ

67. (b) ¢!àþ„þ e«›!Ýþþ £œ éôôôôé Svþzê¢ öíöì„þ þ™îûþ™îû ›£y¢y†îûV
Glacier  Rivulet  River  Sea  Ocean

S!£›îy£V  SGþ’Åy/Ç%þo˜”#V  S˜”#V    S¢y†îûV S›£y¢y†îûV
68. (d) 123 = 1 + 2 + 3 = (6) = (6)2 = 36

221 = 2 + 2 + 1 = (5) = (5)2 = 25

69. (b)
11 19

: 0.65 :: : 0.90
17 21

70. (a) A Z B C Y D
+2
–1
+2

~„þ£z¦þyöìî
E X F G W H

+2
–1
+2

71. (b) Q x‚Ÿ myîûy öîyGþyöì̃ y £öìFŠéÐ
72. (c) 28!Ýþ



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 8  !vþöì¢Áºîû– 20244

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

73. (c) !„þŠ%é ö‰þëûyîû ÷“þ!îû „þîûöì“þ !„þŠ%é „þyàþ œyöì† “þy£z ö‰þëûyîû ç
„þyöìàþîû ›öì•Ä ¢Á™„Åþ xyöìŠé !„þlsþ ‹%öì“þy ÷“þ!îû „þîûöì“þ ‰þy›vþüy
œyöì†Ð ~!Ýþ ~„þ!Ýþ x˜Ä ö†yöìeîû “þy£z îœy ëyëû

„þyàþ ‹%öì“þyö‰þëûyîû

74. (a) R U X+3 +3

–2T R P–2

B E H+3 +3

–2Q O M–2

75. (c) ö„þyvþ
069
476

509

îy„þÄ
grapes are sweet
very sweet fruit

grapes are ripe

~…yöì̃ 0 ç 9 ˜Áºîû ”%!Ýþ 1› ç 3ëû îy„þÄ=!œöì“þ repeat
„þîûy £öìëûöìŠéÐ !„þlsþ 5 ˜Áºîû!Ýþ 3ëû îyöì„þÄ ~„þîyîû îÄî£yîû „þîûy
£öìëû öë!Ýþ 'ripe' Ÿ·!Ýþöì„þ öîyGþyëûÐ

76. (a) (A + B + C) ~îû 1 ‡rÝþyëû „þy‹
 1 1 1 2 3 1 6 1

6 4 12 12 12 2

        
 

¢%“þîûy‚ !“þ˜‹˜ ~„þ¢yöìí „þy‹!Ýþ 2 ‡rÝþyëû öŸ¡ì „þîûöìîÐ
77. (c) •!îû Öîû&öì“þ A ~î‚ B ~îû ›)œ•˜ ëíye«öì› 6x Ýþy„þy ~î‚

5x Ýþy„þyÐ
•!îû B ~îû xíÅ (7 + y) ›y¢ þ™ëÅhsþ îÄî¢yëû ë%_« !ŠéœÐ
“þy£öìœ–

 

 

6x 7 4 84 4
5x 5 70 5y 55x 7 y
2


  

    
 

4(70 + 5y) = 420  20y = 140  y = 7
¢%“þîûy‚ B ~îû Ýþy„þy (7 + 7) xíÅyê 14 ›y¢ þ™ëÅhsþ îÄî¢yëû
!ŠéœÐ

78. (c) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x
„þ› îÄ!_«– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
1200 : 1600 : : 60 : x
 1200 × x = 1600 × 60


1600 60

x 80
1200


  !”˜

79. (d) !“þ˜!Ýþ ˜œ 1 ‡rÝþyëû ¦þ!“Åþ „þöìîû
 1 1 1 1 5 3 1 8

3 6 10 3 30 3 30

            
   

1 4 5 4 1

3 15 15 15

     
 

¢%“þîûy‚ ë!” …y!œ ö‰þïîyF‰þyëû !“þ˜!Ýþ ˜œ ~„þöìe ö…yœy £ëû–
“þy£öìœ ö‰þïîyF‰þy!Ýþ 15 ‡rÝþyëû ¦þ!“Åþ £öìîÐ

80. (c) ÝþÆy„þ myîûy x!“þe«yhsþ ”)îûc = †!“þöìî† × ¢›ëû
= 70 × 12 = 840 !„þ!›
12 ‡rÝþyëû †y!vþü!Ýþ ëyëû = 840 + 120 = 960 !„þ!›

†y!vþüîû †vþü †!“þöìî†
960

80
12

   !„þ!›/‡rÝþy

81. (d) •!îû ›)œ•˜ = `x, ¢›ëû = 20 îŠéîû– ¢%”ôéxy¢œ = `2x

¢%“þîûy‚ ¢îûœ ¢%” = `(2x – x) = `x

¢%öì”îû £yîû 100 x
% 5%

x 20

   
 

îy!¡ìÅ„þ

~…˜ ›)œ•˜ = `x–  ¢%öì”îû £yîû = 5% îy!¡ìÅ„þ– ¢%”éôéxy¢œ
= `3x
 ¢îûœ ¢%” = `(3x – x) = `2x

 !˜öì’Åëû ¢›ëû
100 2x

40
x 5

   
  îŠéîû

82. (d) ‰þe«î,!kþ ¢%”
3

10
18000 1 18000

100

       
  

`

11 11 11
18000 18000

10 10 10

        
  

`

= `(23958 – 18000) = `5958
83. (a) ‰þe«î,!kþ ¢%”éôéxy¢œ = `(15000 + 2496) = `17496

2
R

15000 1 17496
100

    
 

2 2
R 17496 729 27

1
100 15000 625 25

          
   

R 27 R 27 2
1 1

100 25 100 25 25
            
   

R
2

100 8
25
    
  Ð

¢%“þîûy‚ ¢%öì”îû £yîû îy!¡ìÅ„þ 8%
84. (d) •!îû öÝþÆöì̃ îû ÷”‡ÅÄ = x !›ÝþyîûÐ

“þy£öìœ
x x 100

30x 20x 2000
20 30


   

10x = 2000  x = 200 !›ÝþyîûÐ

85. (c) (A + B)ôé~îû „þy‹
7

11
 ~î‚ C ~îû „þy‹

7 4
1

11 11
    
 

  7 4
A B : C : 7 : 4

11 11
   

A, B, Cô~îû !›!œ“þ ›)œ•˜ = 16500 Ýþy„þy

Côé~îû ¦þy†
4

16500
11

   
 

 Ýþy„þy = 6000 Ýþy„þy



5Achievers

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

86. (c) •!îû e«ëû›)œÄ = x Ýþy„þy “þy£öìœ– Çþ!“þ
x

5
  Ýþy„þy

!îe«ëû›)œÄ
x 4x

x
5 5

    
  Ýþy„þy

4x 5
8000 x 8000 10000

5 4
       
 

¢%“þîûy‚ e«ëû›)œÄ =10000 Ýþy„þy
87. (a) •!îû “,þ“þ#ëû ¢‚…Äy = 100

“þy£öìœ þ²Ìí› ¢‚…Äy
1

112
2

  ~î‚ !m“þ#ëû ¢‚…Äy = 125

 !˜öì’Åëû %
225

100 % 90%
2 125
    
 

88. (d) •!îû îûyöì›îû þ™%öìeîû îëû¢ = x îŠéîû ~î‚ îûyöì›îû îëû¢ = 3x
îŠéîû

îûyöì›îû îëû¢ 2

5
 îûyöì›îû îyîyîû îëû¢

 îûyöì›îû !þ™“þyîû îëû¢
3

2
 îûyöì›îû îëû¢

5
3x

2
   
 

îŠéîû
15x

2
 îŠéîû

“þyöì”îû îëûöì¢îû ¢›!ÜT = (46 × 3) îŠéîû = 138 îŠéîû

 x + 3x +
15x

2
 = 138

 2x + 6x + 15x = 276

 23x = 276  x = 12

!˜öì’Åëû þ™yíÅ„þÄ

15x
x

2
   
 

 îŠéîû
13x

2
 îŠéîû

13
12

2
   
 

îŠéîû = 78 îŠéîû

89. (a) •!îû !ßþiîû ‹öìœ †!“þ = x!„þ!›/‡rÝþy ~î‚ ”)îûc = y !„þ!›Ð
“þy£öìœ

       
y 2y 1 2

x 2 x 2 x 2 x 2
  

   
 2x – 4 = x + 2  x = 6

 !ßþiîû ‹öìœ †!“þ 6 !„þ!›/‡rÝþyÐ
90. (c) •!îû öÝþÆöì̃ îû ÷”‡ÅÄ y !›Ýþyîû ç †!“þöìî† x !›Ýþyîû/ö¢öì„þuþ


 162 y

18 18x y 162 .....(i)
x


   

 120 y
15 15x y 120 .....(ii)

x


   

(i) öíöì„þ (ii) !îöìëûy† „þîûöìœ 3x = 42  x = 14
 öÝþÆöì̃ îû †!“þ

= 14 !›Ýþyîû/ö¢ö„þuþ
18

14
5

   
  !„þ!›/‡rÝþy

252

5
 !„þ!›/‡rÝþy = 50.4 !„þ!›/‡rÝþy

91. (b) •!îû “þyþ™¢ ~£z „þy‹!Ýþ x !”öì̃  öŸ¡ì „þîûöìîÐ “þy£œ !›!£îû
„þy‹!Ýþ 2x !”öì̃  öŸ¡ì „þîûöìîÐ

1 1 1 3 1
2x 36 x 18

x 2x 12 2x 12
        

¢%“þîûy‚ “þyþ™¢ ~„þy „þy‹!Ýþ 18 !”öì̃  öŸ¡ì „þîûöìîÐ
92. (b) •!îû– !˜öì’Åëû !”˜ ¢‚…Äy = x

„þ› þ™yÁ™– öî!Ÿ !”˜ SîÄhßþy˜%þ™y“þV
öî!Ÿ ÷”!˜„þ ‡rÝþy– „þ› !”˜ SîÄhßþy˜%þ™y“þV
„þ› Ýþ˜ ‹œ– „þ› !”˜ S¢›y˜%þ™y“þV
þ™yÁ™
þ‡rÝþy/!”˜

þ™!îû›y’ SÝþöì̃ V

16 : 18

9 : 7

2170 : 1736

: : 10 : x

(16 × 9 × 2170 × x) = (18 × 7 × 1736 × 10)

 
 

18 7 1736 10
x 7

16 9 2170

  
  

 
!”˜

93. (b) ²Ìöì“þÄ„þ!Ýþ Ý%þ„þöìîûyîû ÷”‡ÅÄ = 78 ö¢!›– 108 ö¢!›– 117  ö¢!›–
169 ö¢!›îû †.¢y.= = 13 ö¢!›
 !˜öì’Åëû Ý%þ„þöìîûyîû ¢‚…Äy

 78 104 117 169
6 8 9 13 36

13 13 13 13
          
 

94. (b) !˜öì’Åëû ¢‚…Äy = S24, 32, 36, 54 ~îû œ.¢y.=V – 9
= (2 × 2 × 2 × 3 × 3 × 4 × 3) – 9
= (864 – 9) = 855
2  24, 32, 36, 54
2  12, 16, 18, 27
2    6,   8,    9, 27
3    3,   4,    9, 27
3    1,   4,   3,   9
      1,   4,   1,   3

95. (d)
1 1

x x
1 4

1 1
13 13
4

  
 

1 13
x x

17 17
13

   

 13 13 34 13
x 2 x 2

17 17 17


      

21 4
1

17 17
 

96. (b) œöìî ”Ÿ!›„þ ßþiyöì̃ îû öëy†šþœ = (3 + 3 + 3 + 2)
= 11(3 + 3 + 3 + 2)
= 11

£öìîû ”Ÿ!›„þ ßþiyöì̃ îû öëy†šþœ = (3 + 4 + 4) = 11
¢%“þîûy‚ ”Ÿ!›„þ ¢îûyöì̃ yîû þ™îû
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xÄy!‰þ¦þy¢Å

²Ì”_ îûy!Ÿ

 9 36 16 8
9 36 4 3 6 2 36

2 8 2

  
       

 
97. (a) „þöìÇþîû 80 ‹˜ !ŸÖîû ö›yÝþ îëû¢

= (15 × 80) îŠéîû = 1200 îŠéîû
„þöìÇþîû 15 ‹˜ !ŸÖîû ö›yÝþ îëû¢
= (16 × 15) îŠéîû = 240 îŠéîû

„þöìÇþîû 25 ‹˜ !ŸÖîû ö›yÝþ îëû¢
= (14 × 25) îŠéîû = 350 îŠéîû

„þöìÇþîû îy„þ# 40 ‹˜ !ŸÖîû ö›yÝþ îëû¢
= [1200 – (240 + 350)] îŠéîû
= (1200 – 590) îŠéîû = 610 îŠéîû

~£z 40 ‹öì̃ îû †vþü îëû¢
610

40
  îŠéîû

61

4
 îŠéîû

= 15.25 îŠéîû
98. (d) •!îû ¢›hßþ þ™öì’Äîû e«ëû›)œÄ = x Ýþy„þy

!“þ˜ ‰þ“%þíÅy‚Ÿ þ™öì’Äîû e«ëû›)œÄ
3x

4
 Ýþy„þy

~îû vþzþ™îû x!‹Å“þ œy¦þ = 20%

3

4
¦þy† þ™öì’Äîû !îe«ëû›)œÄ

3x 120 9x

4 100 10
    
   Ýþy„þy

1

4
¦þy† þ™öì’Äîû !îe«ëû›)œÄ

1

4
  ¦þy† þ™öì’Äîû e«ëû›)œÄ

x

4
   Ýþy„þy

ö›yÝþ !îe«ëû›)œÄ
9x x 23x

10 4 20
    
   Ýþy„þy

œy¦þ
23x 3x

x
20 20
    
   Ýþy„þy

œy¦þ%
3x 1

100 % 15%
20 x
     
 

99. (c) •!îû 2 îŠéîû xyöì† ¢Á™!_îû ›)œÄ = x Ýþy„þy
“þy£öìœ

2
10 9 9

x 1 81000 x 81000
100 10 10

       
 

10 10
x 81000 100000

9 9
      
 

 Ýþy„þy

100.(c) ²Ì”_ oîöì’ !‰þ!˜îû þ™!îû›y’

40
300

100
   
  @ùÌy› = 120 @ùÌy›

²Ì”_ oîöì’ !‰þ!˜îû þ™!îû›y’ = x @ùÌy›
“þy£öìœ
120 x

100 50
300 x


 


120 x 50 1

300 x 100 2


  


= 300 + x = 240 + 2x

 x = 60 @ùÌy›

xÄy!‰þ¦þy¢Å


